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T he figures.in the right-hand margin indicate marks:
A Candzdates are required to give their answers in .
- their own words as far as practzcable

1. Answer any five questions: ' 2x5=10
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a) How is the law of demand related to the price

- ofa good?
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b)  Define Isoquant.
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¢) - Whatis the .main difference b"etween substitutes ‘
. and complements in demand theo'ry"
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B .d) What do you mean by cross prlce elast101ty of
. ~demand‘7 :

e) " Define ‘excess supply’. .
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- 1) '.Whet is eﬁpansion path?
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. 8 Why is the Margmal Revenue Curve facing .2

ﬁrm horizontal in perfect competition?
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h) .
substlmtlon (MRS) i in the consumer theory"
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2. . Answer any two questiens:
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a). Define indifference ‘curye, Explaln the
properties of an mdrﬁ‘erence curve,
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What do you mean by margrnal rate of .

2+3=5 .
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b)
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“Inthe longrun all cost is vanable cost" Explain
g the statemerit. : 5
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State the features of perfect competrtron 5
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What do you mean by own price elasticity of
demand? If the price of a good increases from

Rs.10 10 Rs.12 and the quantity demanded’
decreases from 100 units to 80 units, what will

" be the price elasticity of demand for the good?
- What will be the income elasticity of a luxury

good? . C T 242+1=5
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3. Answer any two questions: - R 10x2=20
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Differentiate between Normal Profit and Super |
Normal proﬁt "A perfectly competitive firm

©  only earns normal profit in the long run"Justify

the statement. - 4+6=10"
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b)

Define budget line of a consumer. What are the

factors that determine the slope of a budget

line? What happens to the equilibrium of a
consumer (in a two commodity world) if the
budget line shifts rightward? 2+2+6=10
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Define the law of variable proportion. Identify
the three stages of production with one variable

factor of production. Mention the stages where

- efficient production takes place.  2+6+2=10
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Mention the key determinants of demand. "

Explain how each determinant affects the

demand curve. 2+8=10 *“
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